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QUESTION 1

What is the role of DNA Center in SD-Access?

A. ldentifying and Authenticating Endpoints

B. The point of exchange of reachability and policy for two domains

C. Maintain a database of Endpoint IDs to Fabric Edge Nodes

D. provide GUI management abstraction and Analytics via Multiple Service Apps
Correct Answer: D

https://www.cisco.com/c/dam/m/hr_hr/training-events/2018/cisco-connect/pdf/Cisco_SD-
Access_-_Integrating_with_Your_Existing_Network_- _Vedran_Hafner.pdf page6

QUESTION 2
What two best describe self-healing functionality on vEdges? (Choose two.)
A. Software reconfiguration capability allowing for dynamic reconfiguration of existing channels

B. In software upgrade process, rolling back to the previously running software image when connectivity to vManage
fails

C. vManage detect routing outage detection to detect reachability outages and understand their scope and likely root
cause

D. With configuration change, rolling back the configuration change when loss of connectivity to vManage

Correct Answer: BD

QUESTION 3

What is the default interval for BFD packets?
A. 1 second

B. 15 seconds

C. 10 seconds

D. 5 seconds

Correct Answer: A

https://www.cisco.com/c/en/us/td/docs/routers/sdwan/configuration/bridging-routing-segmentation-qos/vedge/bridging-
routing-segmentation-qos-book/cisco-sd-wan-protocols.html
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QUESTION 4

Which two are benefits from a WAN design? (Choose two.)
A. Prioritize and secure with granular control

B. Reduce cost and increase operational complexity

C. Lower circuit bandwidth requirements

D. Provide lower quality service to guest users

E. Ensure remote site uptime

Correct Answer: AE

QUESTION 5
Which are three Cisco recommendations on "How to Win"? (Choose three.)

A. Talk about Cisco\\'s focus on Security and integration with StealthWatch, Sourcefire, WSA, vulnerability scanner to
make smarter policy decisions.

B. Explain support for 3rd party network devices.

C. Explain architectural advantage of holistic Cisco solution.

D. Demonstrate complex policy flows, rather show case Wizards and enhanced context visibility.
E. Show case Cisco portfolio or ISE feature set during PoC

Correct Answer: ABC
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